Dammam Community College
MATH 011  

Past Exam Questions

Section 1.8
1. The sum of all solutions of the equation   
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2. The sum of all solutions of the equation   
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3. If 
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4. The solution set, in interval notation , of the inequality   
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5. The solution set of the equation  
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6. The complete solution set of the equation 
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7. The solution set, in interval notation , of the inequality   
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8.    The solution set, in interval notation , of the inequality   
[image: image16.wmf]5

3

2

1

£

-

<

-

x

 is equal to
Answer: 
[image: image17.wmf][1,4]

-

   













With regards of Dr. Al-Karkhy
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